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Q1. The objectives of Corporate Social Responsibility are sometimes known as the ‘triple bottom line’
these refer to ...

a. people, planet and profit [key]
b. total quality management
c. task, team and individual
d. key performance indicators
LO:1
AC: 1.1

Q2. The concept which concerns itself with meeting the need%f“the pre%nt \W\out compromising the
ability of future generations to meet their needs is knmm

%‘?’
a. promotability S S
b. sustainability [key] . -
c. accountability P % \*@%&
d. malleability = - % =
AC: 2.1 = &

corf'%%hes@&yeri’%ents and the environment”.
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= VfM, CSR [key] JJIT, MRP

Wmm

LO: 1 -
AC: 1.2
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Q4. An environmental impact of transportation could be ...

a. loss of profit

b. air pollution and atmospheric emissions [key]
c. loss of resource
d

.
A
pest factors =
LO: 2 e =
. s

& S
b h D =
Q5. Drag and drop the correct option into the blank space. . N R e
. A e
. "w‘au %;,a~

L]
An organisation’s can be described as “the tot.al ”@m unt of gr‘%nhouse gases produced to
directly and indirectly support human activities”. g@w N

= %W W

carbon footprint [key], environmental sustamablll mo%ollutlm corporate social responsibility

LO: 2

a. seatemperature S % "
b. ethical monitorin . e
c. global monitoring=., = e e

T, AT St
d.

environmental monltormg [key]"’

stage SWCGSS

a
b. CSR compllance [key]
c. profitability

d. price vulnerability

LO: 4

AC:4.1
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Q8. Which of the following approaches might an organisation adopt to support CSR ...

annual team reporting

vision and mission statements

procurement processes which deliver positive social outcomes [key]
total quality management

LO: 2 5
AC: 2.2
Q9. A typical social factor which contributes to the sustainability d\

a. demographic trends [key]
b. managerial influence

o 0o T o

c. housing location
d. population booms

LO: 3

AC:3.3

Q10. An organisation may include the‘use of which of the following in its defined social outcomes ...

a. ethical codes of ¢
b. local labour [key]
Cc. environmenta
d. interna b
LO: 3
AC:3.1
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